We need to count e 2B set .
NeTE Othevwise | % can e & courfereguple.
SoL)TION
let Si be the nuwher of Tndeptudence set of Size i
Defme L(G3 0= %8 syxs | (1(p30)=4)
Propd Tor wve V&R, wéeEla,
1) Z(G g x) = TG \Wix) +x TG\ VA\NOW) sx)
2) I(Gisx) = L(G\uvix) - TGO\ 3x.)
' 1) Consider independent gets with/uitthout v
2) Consider ndefendent sets comtwining. both u,v
M G\wW. T il ewmwit the detsils .
PV‘OF 2 Tor & tree T, I[T3-De€31.0.17.
% Induction om Nn=IVMY. For n=\, L(Ti-=0.
SuPpose thot  Prop 2 holds  $or ony PAN with sue
n22. (msider ony +ree vt n Verbices, Chose
WEV(T) uith deglu) =1, omd let NOow=1vi.
Bg ?\.o? 4,
T(T3m = LT wvsz) - 2TITWWD) 5x)
= (90 I(T\u 3%) - I(T\NW\W ;2)
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Note Het TANWI\V =T U+ UTa for owe
Saller trees Cpossibly an omptu graph). Hence,

ICT\NCD)\v?ﬁ)Z X T T-ffhx).

[t Sollows Hhat , Srom Hhe Tnduction hypothegic ,
T(T3-) = - TMzm T 51D €3-1,0,13
CIAM Let G be o swrle quphs o ke e fhe
cmallest, nusber of  verdicec quu‘ml 1o delete every

Cycle . Then, | I(az-N| 2 2%,

°." Induttion on b? F h(;f'o, then GG s aﬁ%ﬁj
fhus, L(Gi3-DE3-1.06,15 by Prop 2 . Suppose it
11(&5-D] < 2% £ mj G <4
for some R V0.

Assume that G e given od da=4d. Let
v, -, Vel e V@) e the b verbites dlefig
Al cyles, By the winimality , all v; ove oot
n & cycle. Hence.

T(&3x) = TCE\Y D) + x G\ ;)
and, 'k(a\v, =h-1s hewvanoy £ -l ﬂlere-fom,
by the Tnduction hﬂ?ofhecfs,

[20Gs-)] = [1(Gw3 1) = TE\WANG) 5 -0
< lI.CC:I\VG—I)\"t \I(Cz\\h\N(VO{
< 2&-1 _‘_lh."l = l"h :

ond the clam Sollows. g



